JL_

Multiplying Fractions Name:
Solve each problem.Writethe answer asan improper fraction (if possible). Answers
D1 2 ) 8 1
—x = — —x—= 1.
5 4 3 4
2,
3.
3 4
) 3L, 9. )%Xi: 4,
5.
6.
7.
5
) 21 13 _ 6 o1 1.
5 5 3 2 8,
9.
10.
N 17 14 _ 8 ,2, 10 N
5 5 4= 4 '
12.
9 13 17 10) 1 1
—Xx—= 2—x—=
4 4
1) 13 1 12) 1 1
 x—= — X—=
4 2
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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Multiplying Fractions Name:. Answer Key
Solve each problem.Writethe answer asan improper fraction (if possible). Answers
V1.2 28 1_ y
5" 4 374 ! —
1 2 2 8 1 8 8
o —=—— — X—=— 2 12
5 4 20 3 4 12
90
3. 6
5
3) 9 49d 5 1 4. 8
3—x—= — X—=
2 2 4 273
10 9_9% 5,15 ° =
3 2 6 2 4 8 70
6. 6
238
7 25
5 21 13 6) 1 1
el e 3—x 3= 140
5 5 372 o /i
21 13 273 10 7 70 291
X = — X — =—
) 5 25 3 2 6 9 16
9
10. 16
N 17 14 _ 8 ,2, 10 _ . ¥
5 5 4= 4 '
1
17 14 _ 238 14 10 _ 140 " /s
5 5 25 4 4 16
9 13 17 10) 1 1
—Xx—= 2—x—=
4 4 4 4
13x17_221 gxl_i
4" 4 16 4 4 16
1) 13 1 12) 1 1
—X—= —X—=
4 2 2 3
13,1 _13 1,11
4 2 8 2 3 6
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 1 11-121 8 | 0




JL_

Multiplying Fractions Name:
Solve each problem.Writethe answer asan improper fraction (if possible). Answers
) 1 .2 2 8 1
1 4 x 2 3 = 3 X 3 1
2,
3.
3) 1 3 4 1 5 4.
1—x1—= — X—=
2 5 2
5.
6.
7.
5
) lgxi: % Sixéz
372 5 N
9.
10.
N9 .9_ 9 3,4 1
42 4 3 '
12.
9 1 100 3 3
— X —= —X—=
4 4 5
1) 1 1 12) 1
EXE— 3_X2§—
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 2 11-121 8 | 0




ﬂh Multiplying Fractions

Name:. Answer Key
Solve each problem.Write the answer as an improper fraction (if possible). Answers
D 1 2 ) 8 1 40
lZXZEZ EXE: 1 19
5 8 40 8 1 8 8
T X3 T X = 2 9
4 3 12 3 3 9
24
3 10
5
3 1 3 49 1 5 4. 6
lEXJ'g_ 3x2_ i
3,8 _24 1. 5.5 5. 6
2 5 10 3 2 6 30
6 15
81
7. 8
S 6
) lgxi: ) Bixéz 77
3 2 3 5 8 12
5 1.5 10 3_30 ]
—— X——=—T — X —=—
3 2 6 3 5 15 0. 8
9
10. 20
K 2.2 ) 1§X£— 11 l4
4 2_ 4 3_ .
77
9.,5_ 81 LAl 12 /9
4 2 8 4 3 12
9 1 5 100 3 3
— X-= —Xx—=
4 2 4 5
1 5 5 3 3 9
T XA =T — X —=—
4 2 8 4 5 20
) 1 1 12 2 1
EXE_ 33)(25_
i><i—i Exl—l
2 2 4 3 3 9
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 2 11-12| 8| 0




C:h Multiplying Fractions

Name:
Solve each problem.Write the answer as an improper fraction (if possible). Answers
) .3 ,3_ 2 2 2
3 A x 2 a4 3 5 X 3" N
2.
3.
3 1 1 4 1 3 4.
2—%x 3= —X—=
2
5.
6.
7.
5 14 1 6) 5 1
— X——= —x 3—=
4 2 2 5 N
9.
10.
15,10 9 23,1 .
4 3 B 5 3 - .
12.
9 1 3 10 1 2
el 1—x—=
3 5
11) lxi: 12) Exﬂz
2 5 3 3
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 3 11-12| 8| 0




ﬂh Multiplying Fractions

Name:. Answer Key
Solve each problem.Write the answer asan improper fraction (if possible). Answers
H _3 3 ) 2 2 165
SZX ZZ: SEXEZ 1 /16
15 11 165 17 2 34 A
% = — X = = 2. 15
4 4 16 5 3 15
35
3. 4
3
3 1 1 49 1 3 _ 4 20
ZEX 35— 5 X 2 = -
5,7.3 1,33 . :
2 2 4 5 4 20 80
6 10
150
7 12
5 14 1 6) 5 1
2 o " X3¢ = 161
4 2 2 o 8 15
14 1 14 5 16 80 3
— XY= — X — =—
4 2 8 2 5 10 9 15
6
10. 10
7 8 28
) %x%oz ) %XZ%: 11. /10
15 10 _ 150 23 7 _161 » 154/9
4 3 12 5 3 15
9 1 3 10 1 2
X—= 1—x—=
3 5 2 5
1.3.3 3.2.6
3 5 15 2 5 10
gL 12 11 14
2 5 3 3
lxi_ﬁ 11X14_154
2 5 1 3 3 9
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 3 11-12( 8 | 0




C:h Multiplying Fractions

Name:
Solve each problem.Write the answer asan improper fraction (if possible). Answers
) 2 4 2 11 9
—x1—= —X—= 1
3 S 4 4
2.
3.
3 1 11 49 1 2 4.
25 " 1%3%"
5.
6.
7.
5 1 3 6) 2 10
X = —X—=
2 4 4 4 8.
9.
10.
n 2 7 8 3 4
22" — X = 11.
3 3 5
12.
9 3 _1_ 10 1 1
34 ><32 = ]_2 X 5 =
1) 3 4 12) 9 5
— X—= — X —=
5 5 2
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 4 11-12| 8| 0
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Multiplying Fractions Name:. Answer Key
Solve each problem.Writethe answer asan improper fraction (if possible). Answers
D2 .4_ 2 11 _9_ 18/
315" e R
2 9 18 11 9 99 9
L 2 - —x—=== 2, 16
3 5 15 4 4 16
11
3. 10
70
3 4
)ix£= ) 1£x3£: 4. 16
2 5 4 4 3
1,11 11 5,14 _70 g :
2 5 1 4 4 16 20
6. 16
14
7. 9
5 1 3 6) 2 10
— X—= — X —= 12
2 4 4 4 8 20
1.3.3 2,10_20 105
2 4 8 4 4 16 9. 8
3
10. 4
N 2.7 9 3.4, n_ 7w
3 3 5 '
45
2.,r_14 3.4_12 12 /4
3 3 9 5 20
9 .3 .1 10 1 1
34735° 1573+
15 7 _105 3,13
4 2 8 2 2 4
1) 3 4 12) 9 5
_—X—= —X—=
5 5 2 2
3.4_12 9,54
5 5 25 2 2 4
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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C:h Multiplying Fractions

Name:
Solve each problem.Write the answer asan improper fraction (if possible). Answers
) 9 3 ) 2 2
P 2 " 1
2 4 3 5
2.
3.
3y 1 .2 4 2 13 a.
25 X 3 = ]_5 X 7 =
5.
6.
7.
5 1 1 6) 8 14
2—x—= —X—=
4 3 3 8
9.
10.
N 2 3 8 _4 _1
475" 35"23— 11.
12.
9 1 1 10 3 1
— X = 2—x—=
5 2 2
1) 1 .1 12) 14 10
2—x2—= —X—=
2 3 3
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 5 11-12| 8| 0
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Multiplying Fractions Name:. Answer Key
Solve each problem.Writethe answer asan improper fraction (if possible). Answers
1) gxi_ 2) zxé_ 27
2 4 35 1. 8
9 3 27 2 2 4 4/
—X—=— —X—=— 2, 15
2 4 8 3 5 15
55
3 15
21
3 1 .2 49 2 13 _ 4 20
25*13° Lex = ;
1 5 _55 7,13 91 > :
5 3 15 5 4 20 12/
6 9
6
7 20
5) 1 1 6) 8 14
2—x—= —Xx—0>= 133
2 4 3 3 8 15
5 1 5 8 14 112 1
— x—=— — X —=—
2 4 8 3 3 9 9 10
13
10. 10
N 2 3 8 4 _1_ 25
ng— 35X23— 11 4
140
2,3_6 19 7 _13 12 /9
5 20 5 3 15
9 1 1 100 3 1
—Xx—= 2—x—=
5 2 2
1,11 13, 1_13
5 2 10 5 2 10
11 12
) oL, ) 14 10 _
2 2 3 3
Exi_é 14)(10_140
2 2 4 3 3 9
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 5 11-121 8 | 0




JL_

Multiplying Fractions Name:
Solve each problem.Writethe answer asan improper fraction (if possible). Answers
1) 10 2 2) 1 1
3 “%5" 215" L
2,
3.
3 1 1 4 3 2 4.
— X—= —Xx 2—=
4 5 5
5.
6.
7.
5
) 10 14 _ 6 12, ,3_
4 5 3 5 8.
9.
10.
N 17 1 8 3 12
—X—= —X—= 11.
4 4 5 5
12.
9 1 1 10) 22 17
— % 3_: —X—0=
5 3 5 4
1) 17 7 12) 1 16
—x—= 3—x—=
5 2 3 5
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 6 11-121 8 | 0
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Multiplying Fractions Name:. Answer Key
Solve each problem.Writethe answer asan improper fraction (if possible). Answers
1) 10 2 2) 1 1 120
3 ZEZ Pa 152 1 15
10 12 120 1 3 3 3
X = — X — =— 2. 4
3 5 15 2 2 4
1
3 20
36
3 1 1 4 3 2 4 25
T x— = —Xx 2—=
4 5 5 140/
1.1 1 3,12 36 ° 2
45 20 5 5 25 65
6 15
17
5) 6 7 16
Qxﬁz 1£x 23; 36
4 5 3 5 8 o5
10 14 140 ) 13 65 10
X = _ X — = —
4 5 20 3 5 15 9 15
374
10. 20
N7 1 9 3,12, a_
4 4 5 5 '
160
ir 1_17 3,12_36 12 /is
4 4 1 5 5 5
9 1 1 10) 22 17
— % 3_: —X—0=
5 3 5 4
ixl_Ozl_O 22x17:374
5 3 15 ) 4 20
1) 17 7 12) 1 16
—x—= 3—x—=
5 2 3 5
ﬂxl_ 119 10 x16_160
5 2 10 3 5 15
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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C:h Multiplying Fractions

Name:
Solve each problem.Write the answer as an improper fraction (if possible). Answers
) 11 13 2 1 1
3 a4 " 17x3= 1
3 4 3 3
2.
3.
3 .3 4 3 1 4.
1—)(—: — X —=
5
5.
6.
7.
5 5 11 6 2
X = —Xx—=
2 3 3 5 N
9.
10.
D 1l.a2. 8 1 10 _ .
2 - 2 4 - .
12.
9 1 1 10) 15 1
A X A= —x1—=
3 2 4 4
1) _1 1 12) 4 2
3 3 x 3 3 3 5 x 3 c -
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 7 11-12| 8| 0




ﬂh Multiplying Fractions

Name:. Answer Key
Solve each problem.Writethe answer asan improper fraction (if possible). Answers
2 11 13 _ 2) 1ixi: 143
3 4 33 1. 12
11 13 143 4 1 4 4
% = o X554 2, 9
3 4 12 3 3 9
63
3. 8
3
K léxg— 4 ixi_ 4 20
4 2 4 5 .
7’ .9_63 3. 1.3 5 6
4 2 8 45 20 2
6 15
42
7. 8
5 5 11 6) 2 1
5 X Ta X" 10
2 3 3 5 8. 8
5,11 _55 2.1 2 1
2 3 6 3 5 15 0. 6
75
10. 16
N1 .2 8 1 10 _ 100,
12><34_ 5 X T 1. 9
323
S 14_42 1.,10_10 12 /%
2 4 8 2 4 8
9 1 1 10) 15 1
X = —x1—=
3 2 4 4
1,11 15,5 _7
3 2 6 4 4 16
1) 1 1 12) 4 2
3§><3§— 33 33_
10 g 10 100 19 y 17 323
3 3 9 5 5 25
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 7 11-12( 8 | 0




JL_

Multiplying Fractions Name:
Solve each problem.Writethe answer asan improper fraction (if possible). Answers
D2 1 2,1 1.
4" 3 25 t
2,
3.
3 1 4) 19 3 4.
— X—= —x2—=
4 4
5.
6.
7.
5 1 7 6) 1 1
35 x—o= =X
2 5 2 8,
9.
10.
7 ixﬁz 2 1£x£= 11
3 5 3 3 '
12.
9 10
) zix Zi ) E><£:
4 4 3 S)
1) 1 10 12 1 1
= = 1—x—=
2 4
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 8 11-121 8 | 0
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Multiplying Fractions Name:. Answer Key
Solve each problem.Writethe answer asan improper fraction (if possible). Answers
D2 1. 2 o1 1. /
4 3 27§ 1 12
2 1 2 7 1 7 /
Zx—_—=_" — X—=— 2 10
4 3 12 2 5 10
;
3. 6
209
91,7, 9 19 ,3_ ‘ 16
3 2 4“4 49
ixl_l 19 y 11 209 5 4
3 2 6 4 4 16 %
6 10
14
7 15
5 1 7 6 1 1
3—x—= —Xx—= 10
2 2 5 2 8, 9
7 7 49 1 1 1 99
_— X —=— — X—=—
2 2 4 5 2 10 9 16
196
10. 15
o1 14 8) 12,2 " 108
3 5 3 3 '
1,14 14 5,2_10 o /s
3 5 15 3 3 9
9 1
) ,3 1. 0 14 14
4 4 3 S
EX 9 _9 14 y 14 196
4 4 16 3 5 15
1) 1 10 12 1 1
— X—= 1—x—=
2 4 3 3
1,10 10 4,14
2 4 8 3 3 9
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 8 11-121 8 | 0




JL_

Multiplying Fractions Name:
Solve each problem.Writethe answer asan improper fraction (if possible). Answers
D g><i: 2) Zixi:
372 22 L
2,
3.
3) 1 4 4 19 4 4.
3—)(—: — X —=
5 5
5.
6.
7.
5
) 13 14 _ 6 .2 3.
3 5 3 75 N
9.
10.
N1 1. 8 ,1_.3_
1 X 5" 34 X 14 = 11.
12.
9) 1 13 100 1 5
2—x—— —x—=
3 5 3 2
1) 2 7 12) 1 13
1—x—= — X—=
4 5 5
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 9 11-121 8 | 0




ﬂh Multiplying Fractions

Name:. Answer Key
Solve each problem.Writethe answer asan improper fraction (if possible). Answers
1) z><i: 2) Zixi: 2
3 2 ) 1 6
2 1 2 5 1 5 5
— X —=— — X—=— 2. 4
3 2 6 2 2 4
28
3 10
76
I gl 4. 9 19 4_ ‘ e
2.5 5 182
Il .48 19 4_76 5 15
2 5 1 5 5 25 108
6 15
1
7. 8
5 6
) E><£: ) Bzx 332 o1
3 S 3 S 8 16
13 14 182 11 18 198 o1
X = X =
3 5 15 3 5 15 9 15
5
10. 6
7 8 a2
) %x%: ) 3%"1%: 11. 12
13
1. 1.1 B 7 _91 1. /%
4 2 8 4 4 16
9) 1 13 100 1 5
2——x—= —X—=
3 5 3 2
7 13 9 1,55
3 5 15 3 2 6
1) 2 7 12) 1 13
1—)(—: — X —0=
4 3 5 5
6 ,7_42 1,13 13
4 3 1 5 5 25
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 9 11-12| 8 | 0




C:h Multiplying Fractions

Name:
Solve each problem.Writethe answer asan improper fraction (if possible). Answers
) 7 5_ 2 4 1
2 g 2 1 5 x1 2 1
2.
3.
3) 1 1 4) 19 1 4,
1§><E— 2 x 1 5=
5.
6.
7.
5 2 3 6)
X, 1—x—=
3 4 N
9.
10.
N1 13 8) 1 1
fo?‘ 5 3 2 11.
12.
9 3 17 100 8 9
—X—= — x= =
4 5 3 2
1) 9 14 12) 1 2
—X—= —x ==
2 3 2 4
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 10 11-12| 8 | 0




ﬂh Multiplying Fractions

Name:. Answer Key
Solve each problem.Write the answer asan improper fraction (if possible). Answers
) 7.5 2 4 .1 35
2" 13’(1?: 1 /4
/7 5 35 9 3 27 27
55T — X - = 2. 10
2 2 4 S 2 10
4
3. 6
57
3 4
) v )1_9)(1i= . .
3 2 4 2 .
4,14 19 3 _57 5 12
3 2 6 4 2 8 9
6 10
91
7. 9
5 2 3 6) 1 3
2" 15 x—= 13
3 4 2.5 8 20
2 3 6 3 3 9 -
X == — X—=—-
3 4 12 2 5 10 9 20
72
10. 6
7 8 126
) 2% 1?32 ) %" %= 11, /6
2
AN < Y 1,13 18 12 7z
3 3 9 5 4 20
9 3 17 100 8 9
— X = —X—=
4 5 3 2
3,17 _51 8,9.72
4 5 20 3 2 6
1) 9 14 12 1 2
—X—/= — X —=
2 3 2 4
9,14 _12 1,22
2 3 6 2 4 8
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 10 11-12( 8 | O
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